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11.70F, 0 2Fy, TAYIETF A, AO=AT=AB, BC//AT, 0C=4v2, KFH AOD
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12. 2 F B OAB BYTEFR 4 15cm? X3l AB Z 4K i 6cm, 3K<AOB R E
13.— BN EKE 28cm, HFRZ 49cm?, KIXMNBEEHNFEE. TKEE A,
14.B40=£8 ABC =i} a=39, b=40, c=25, Kk =£ ABC AYIE = F1Z.

. 2T 41T 5T

. o _nSinZ=—cos ——tan>-

15 AT EATEN, ARk—F————<E
cos?+tan?+sm?

16.24tan(r — 6) = 1,B0 <0 <2m, MUnkx0 Z{H
17.7£ AABC B, E%1A=30°, a =+2,b =2, f AABCHAK A/ N=11),
18.AABC =143 3124 5cm, 8cm & 9em, i1 3K
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b. AABC WER (EFRIARSRR)

19.7£ AABC 1, F A, B, CATXIRYIAD A4 a. by ¢, EARA S, % bc=20,5=5, 3K
KA A,
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